RUR)—hvyT AUSR

FfER  $F01408 8048 Y=Y %A9VAbI" V79375 1 3-2
g4z K % ouT IN GR HDCP NET e
Zh F Bz 40 | 36 | 76 6.0 | 70.0
#2 P HMR=FE 40 | 38 | 78 8.0 | 70.0
3 |y ®= 40 | 38 | 78 1.0 1 71.0
4 A EX 41 40 | 81 | 10.0 | /1.0
5 Hrn FHHA 40 | 37 | TI 5.0 | 72.0
6 AT 2 39 | 39| 78 6.0 | 72.0
[ N 41 36 | 7] 4.0 73.0
8 HH —8 36 | 42 78 5.0 | 73.0
9 HE R= 42 | 39 | 81 8.0 | 73.0
10 B+ o 42 | 4 83 | 10.0 | 73.0
1" =25 & 38 | 42 | 80 6.0 | 74.0
12 ks #BE 42 | 42 | 84  10.0 | 74.0
13 | = 40 | 38 | 78 3.0 | 75.0
14 T#H 3 41 40 | 81 5.0 | 76.0
15 &FE —F 43 | 39 | 82 6.0 | 76.0
16 {E”K =+ 43 | 44 | 8] 9.0 | 78.0
17 HlR &= 42 | 47 | 89  11.0 | 78.0
18 #xE #th 47 | 33 | 80 1.0 79.0
19 | EX [ 39 | 46 | 85 5.0 | 80.0
20 fmlt EA 48 | 44 | 92  11.0 | 81.0
21 [/ %4 | 39| 93  10.0  83.0
22 ™ B 52 | 46 | 98 H 10.0 | 88.0
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g5z K % ouT IN GR HDCP NET =
B2 (%A mE 43 43 86 22.0 64.0
#E2 tHiE 8- 49 47 96 27.0 69. 0
3 |MAE Hez 46 44 90 19.0 71.0
4 |HH #BE 45 42 87 13.0 74.0
5 |B A 46 43 89 14.0 75.0
6 |#EH RZ 46 43 89 13.0 76.0
1T |ERK *k 55 43 98 21.0 11.0
8 |EW IS 54 53 107 30.0 77.0
9 |EX EZ 48 48 96 18.0 18.0
10 | KF A 47 44 91 12.0 79.0
1 |BE fEx 48 54 102 23.0 79.0
12 |BA®R Mz 48 46 94 14.0 80.0
13 |fIR A= 51 49 100 20.0 80.0
14 BF #8 47 46 93 12.0 81.0
15 |®F BT 47 47 94 13.0 81.0
16 B &= 50 52 102 21.0 81.0
17 |#®F x— 54 45 99 16.0 83.0
18 [al#E 50 50 100 17.0 83.0
19 k#F 2/F 11 49 120 36.0 84.0
20 mE FA 48 50 98 13.0 85.0
21 |BF QA& 53 51 104 17.0 87.0
22 R ER 53 49 102 12.0 90.0
23 |HA HHE 55 53 108 15.0 93.0
OPEN |&i#&E =RIE 46 40 86
EFX Wi 47 45 92
GUEST HE+ %ZIE 45 41 86
a2H =B 48 40 88
‘g - 45 46 91
HFE RE 47 47 94
¥ —m 45 50 95
BRAE X 52 46 98
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